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QUESTION 1

Which two statements are true about running and analyzing simu-lation results? (Choose two.)

A. You must wait until a simulation run finishes in order to see up-to-date results in charts.

B. During a simulation run, in-flight instances are always allowed to finish before a simulation completes.

C. During a simulation run, cost and time data are automatically collected for all activities, events, and gateways.
D. You can use only Business Process Composer to create and run simulations.

E. The number appearing above the left-most bar atop an activity represents the high water mark for the queue.
Correct Answer: BD

Explanation: In Business Process Composer you can only run simulations based on test data you define using Business
Process Composer.

Let in-flight instances finish before simulation If selected, simulation ends only when the

ends specified mumber of instances completes. If
unselected, simulation stops after the simulation
duration is completed. At that point, all
mcomplete instances are shown in either "in-
process” or "queue” status.

QUESTION 2

Which two statements are accurate in describing features of Business Process Workspace? (Choose two.)
A. To see tasks containing a particular word in the task title, you need to create a custom view.

B. The definition and data for a new view can be shared with a colleague.

C. A custom view needs to be created to enable the delegation of a task to another user.

D. In a task view, the task list can be sorted based upon any visible column heading.

Correct Answer: BC

QUESTION 3
Which two statements accurately describe managing users and roles for a BPM Suite application? (Choose two.)

A. Swimlane roles are created at design time by using Process Composer or BPM Studio.
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B. Application roles can be added by using WebLogic Console or WLST.
C. The organization chart structure of users is visible in Business Process Workspace.
D. You can associate an LDAP group with an application role in Business Process Workspace.

Correct Answer: AC

QUESTION 4

By default, which two tasks participant roles can change the outcome of a task? (Choose two.)
A. Admin

B. Approvers

C. Assignees

D. Creator

E. Owner

F. Reviewer

Correct Answer: CE

Explanation: The task owner can change both the outcome of the task and the assignments.
The assignee can raise questions about the work, by adding comments into the task to communicate to the owner or

followers about their progress. For example, if an assignee cannot complete the task, they can either change the
assignee back to the owner, or add a comment into the task while changing the task status to "need assistance".

QUESTION 5

Which statement is true about the architecture of the business rules component?

A. Facts are vocabulary elements that are used to construct tests and actions for verbal rules.

B. You can use globals to help users modify rules without having to rework the rule logic.

C. Unlike decision tables, if-then rules provide conflict resolution and gap analysis.

D. In the action of a rule, you typically use the Fire RL (Rule Language) verb to invoke inferencing.

Correct Answer: A
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